EARAROBEEIERT — 2 N— IBISH —F

201741282680 (K) 21EEMHE1H

ol C3— H5%R3mLE BRI R
[A&4£] 1 7% :300,000" ~ 23#%&:72,000 M  33&:36,000”  437&:24,000H . 57 :18,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
ElIEE .33, —4-1- . - #)l#54 (Em)
11glg|T—Y—aFN> o7 Be 1(3_3)0 4-4-1-1 | 40.3 2 :1_887) @ﬁ;n
exrind4o— Br—IJ—%t¥ 2 e ]
- = it 6 | ALRE 1:33.8 6-6-3-3 |40.9| — 1 441 | BREEE (FEHR)
EH 3 NI —7 54.0 (5) 0 SR
R:N—Y754 BR7OTLLA HEI77—L4
RN : 01— — XIFEE (EMA)
sl7l 7| E—E-n7F2 it 4 s 1.(364>.8 2-2-1-2 | 42.2 6 <4+735) TRES
:Ayaw+ny B:F1T7rh— 1£E F|AiC
. 3 t> 3 | HHFE= 1:34.9 8-8-6-5 |41.7| — 3 500 |M¥=FH (EH)
]6 Koy =70 7| 6.0 2 E) Ga) | ) E<sa-KL—v 3>
LTUBAZIL R BT oo EdHTT— I
s > 4t 5 | THEE 1:35.0 7-7-8-6 | 4.7 — 4 480 | KRB (FElR)
555 E-E-71FH— 56.0 (3/4) (-5) TIARSZ
RIVINATxA—H— By T748— 2ie ]
= 44 | FERM 1:35.4 10-10-9-7 | 41.7 | — 9 465 | =EEZ (EH)
EE 2| 7TATAYH— 6.0 21/2) s |
R:TA—T4FAF =YL BI VIR T— BEE77—L
=\ 7 B 4 | BEREX 1:35.7 5-5-4-4 |42.8| — 5 479 | AF=F (ER)
71810/ F -V —T—>~X 54.0 (11/2) o |FB2
A=A 44 BANILVEVIF=2X NIVEL N T7— L4
< g Att—E : -3-7- — ioEE (FEk)
sl7lg|3vE®552 it 4 Zi 1.(376).8 3-3-7-9 | 43.8 10 51_345) ks
x4 avkR—-5— B:IvETO-V-— BRNAHKS
ok, s REETLT :37. —-1-5- . — FEA (T
9l 111 ~NELTY D % 3 54_05 (12317/22) 1-1-5-8 | 44.5 7 ;1_537) e
LNAT ==L B:Yz>NFHA4~< X7 A FS
= 2 4 9 | BHED 1:37.4 9-9-10-10 | 43.6 | — 8 489 | REEZ (EH)
10 4 YIIA=TN ¥¢55.0 (1) +1) (%) 77— hEYa>
RHYISTLIFL N BiHIIIVE R ik
® 1—F—@EBIERL
13—7+— 1,7,8,9,10,3,5,6,4,2
20—F— 1,7,8,9,10,3,5,6,4,2
Ja=5= (7,9),3,10,1,6,8,5,2,4
40—F— 9,7,3,10,6,5,2,1,8,4
[ N5
B 9 420M 714K 3-9 150M e E 3-8 220 JEE 3-7-9 1,240H
B B 9 150M 7-9 600 B = 3-9 290M EE 9-3-7 5,090/
3 110M 3-7 340M B H 9-3 910M
7 1809

ABICOVWTRDTEEERROODE. TR LIV,




